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(a+ b)*=
(a—b)=
(a+b)a—b)=
(x+a)(x+ b)=

ERERDZEANBZZTHA
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— <BEHSTBOAK>
a’+2ab+ b>=
—2ab+ b2=

a2 — bh2=

x2+(a+ b)x+ab=

OFELAART
(ax+ b)(cx+d)=
THEMD - - -

acx’+ (ad+ be)x+ bd =
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—— <FEEXLH>
(a+b)?=a?+2ab+ b2
(a—b)2=a’— 2ab+ b>
(a+b)(a—b)=a?— b?

(x4 a)(x+ b)=x>+ (a+ b)x+ ab
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— <E#HHBOAX>

a’>+2ab+ b?>= (a -+ b)?
a?—2ab+ b2=(a— b)?

a?—b2=(a+ b)(a—b)

X2+ (a+ b)x+ab= (x+ a)(x+b)

OFEAKT
(ax+ b)(cx+ d)=acx’+ (ad+ bc)x+ bd
THEMD - - -

acx*+ (ad + be)x+ bd= (ax+ b)(cx+ d)

(B1) 2x*+7x+3 #EBIBLTHK .
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£0T 2x24+7x+3 = (x+3)2x+1)
() ROXZZRBIELIGE LY,

(1) 2x2—Tx+6 (2) 3x242xy—5)2
1 >< 20— -4 1 >< -y | —> -3y
2 3| —> -3 3 S5y| —> b5y
2 6 -7 3 -5y 2y
&oT &oT
2x2—Tx+6 3x242xy—5)2

= (x—2)2x—3) = (x—y)(3x+5y)



